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[ENGLISH VERSION]

Instruction :-
(1)  As per instruction no -1 of page no-1
(2)  Show necessary calculation as part of your answer.

Q-1 Give the answer as per instruction :- (10)
(a) From the following information show the effects in Adjusted 3)
P & L A/C and Fund flow statement:
Particulars 31/3/2017 (Rs.) 31/3/2-18 (Rs.)
Convertible Debentures 2,34,000 1,60,000
Debenture Discount 12,000 -

Additional information:-

During the current year, some debentures are issued at 10% discount,
which are repayable on 31/3/2024. While some debentures were converted
in to equity shares of Rs.10 each with 10% premium.

(b) Following is the first balance sheet after incorporation as on 31/3/2018

of Rose Ltd : 3)
Liabilities Rs. Assets Rs

Share capital 20,00,000 | Fixed assets 25,00,000
Debentures 6,00,000 | Investments 3,00,000
Creditors 5,00,000 | Current assets 3,64,000
Bank overdraft 1,00,000 | Debenture discount 36,000
Depreciation fund on fixed assets 3,00,000 | Profit & Loss A/C 3,00,000
35,00,000 35,00,000

Note : Debentures were issued at 7% discount.

From the above information, prepare cash flow statement as per AS-3
for the year ending 31 st March, 2018.

(c) Following information are of Tiranga Ltd : (2)
(1) Break even point : 4,000 units
(2) Fixed expenses : Rs. 1,20,000

(3) Selling price perunit  : Rs. 90

Find out the selling price per unit to be fixed to bring down the present
break even point up to 60%.
(d) Vivekanand Ltd. provided following information :- (2)
(1) 12% .irredeemable debenture Rs. 5,00,000
(2) If'the debentures are issued at 4% discount, then the cost of
debenture before tax is Rs. 7.50.
(3) Rate of income tax is 40%.

Find out the cost of debentures after tax, if the debentures are
issued at a premium of 20%.
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Q-2 The following are the balance sheets of Shree Bankebihari Ltd.

as on 31/3/2017 and 31/3/2018 :- 14
Liabilities 31/3/2017| 31/3/2018 Assets 31/3/2017| 31/3/2018
(Rs) (Rs) (Rs) (Rs)
Equity share capital 18,00,000| 20,00,000|Land 5,00,000| 5,70,000
7.5% Redeemable 4,00,000| 2,00,000 |Building 14,00,000| 12,00,000
preference share, (Book value)
Rs.100 each
Securities premium 40,000\ 1,40,000 |Machinery 7,40,000| 8,30,000
(Book value)
Profit & Loss A/C 2,13,000| 4,38,000|Vehicle 4,20,000| 4,85,000
(Book value)
Long term loan 6,00,000| 3,50,000|Stock 2,02,000| 2,46,000
Creditors 1,67,000| 1,06,000|Debtors 2,48,000| 2,94,000
Income tax provision 1,00,000| 1,40,000|Cash -Bank 20,000
Bank overdraft 36,000|Preliminary expenses 40,000 31,000
Proposed dividend :-
on equity shares 1,80,000| 2,00,000
on preference shares 30,000 15,000
Preference shares 40,000 20,000
redemption premium a/c
preference shares 11,000
redemption suspense
alc
35,70,000| 36,56,000 35,70,000| 36,56,000

Additional information :-
(1) On 1st April,2017 the balance of provision for depreciation
accounts were :

On Building Rs 3,50,000, On machinery Rs. 4,65,000 and on
vehicles Rs. 3,10,000

(2) The information below related to assets sold during the year

ending 31/3/2018.
Particulars Cost price (Rs) |[W.D.V (Rs) Profit or Loss
on sale (Rs)
Building 2,50,000 95,000 20,000 (profit)
Machinery 2,20,000 1,15,000 30,000 ( Loss)
Vehicles 1,20,000 50,000 10,000 (Loss)

(3) Depreciation charged for the year ending 31/3/2018. :

On Buildings Rs. 1,05,000, on Machinery Rs. 2,05,000 and on
vehicles Rs. 65,000.

(4) Redeemable preference shares were redeemed at premium. All the
payments were made except to the holders of some preference shares
who could not be traced.
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(5) The valuation of opening stock is 20% less than it's cost price. While the
valuation of closing stock is 20% more than it's cost.

From the above information prepare :-

(1)  Statement showing changes in working capital
(i1)) Fund flow statement

(i11)) Other necessary accounts

OR
Q-2 Following are the balance sheet of Vivekanand Ltd. as on 31/3/2017 and
31/3/2018 :- (14)
Liabilities 31/3/2017 | 31/3/2018 | Assets 31/3/2017 | 31/3/2018
(Rs) (Rs) (Rs) (Rs)
Equity share capital 14,25,000 | 26,10,000 | Building 7,50,000| 15,00,000
— Un call 18,000 — | Machineries 15,75,000 | 13,00,000
14,07,000 | 26,10,000 | Furniture 3,37,500| 2,85,000
+ Share forfeited a/c — 12,000 | Investments 7,50,000| 9,00,000
14,07,000 | 26,22,000 | Cash & Bank 2,32,500| 5,25,000
12% redeemable 7,50,000 Other current assets & | 18,40,000 | 20,85,000
preference share, loan and advances
Rs.10 each
— un call 30,000 — | Preliminary expenses 75,000 60,000
7,20,000 —
Securities premium — 90,000
Capital redemption — 3,00,000
reserve
General reserve 3,00,000| 4,28,500
Profit & Loss A/C 8,78,000| 13,78,000
12.5% Debentures 11,25,000 —
Rs. 150 each
12.5% Debentures — 3,00,000
Rs.40 each
Creditors 5,77,500 | 9,90,000
Income tax provision 2,02,500| 2,25,000
Proposed dividend 3,50,000| 2,54,000
Preference share
redemption suspense
A/C: Rs. 82,500 —
Un call:
Rs. 15,000 67,500
55,60,000 | 66,55,000 55,60,000 | 66,55,000

Additional information :-

(1) Calls in arrears for both classes of shares were in respect of final
call money at Rs. 2 per share.

(2) Of the arrears of last call of equity shares which 9,000 shares were
forfeited. Out of which 7,500 shares were re-issued for Rs. 8 per share.

(3) During the year, the company has converted Rs. 110 per 12.5%
debenture, in to equity share of Rs. 10 each with premium.
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Q-3 (a)

Q-3 (b)

(4) Whose calls were in arrears were given a notice to pay the arrear
money, but some of the shareholders could not be found. There
after preference shares were redeemed at 10% premium. For this
purpose, provision for partial amount was made from general
reserve and for remaining amount ,new equity shares were issued
at premium of 10%.

(5) Machineries were purchased on 1/10/2012 which estimated
useful life was 8 years. Some new machineries were purchased on
31/3/2018 which estimated useful life were 10 years.

From the above information, prepare cash flow statement for the
year ending 31/3/2018 as per AS-3.

A company manufactures a product, currently utilizing 80% capacity (8)
with a turn over of Rs. 8,00,000 at Rs.25 per unit.

The cost data are as follows :

Material cost  : Rs. 7.50 per unit

Labour cost  : Rs. 6.25 per unit

Semi-variable cost : Rs. 1,80,000 (including variable cost Rs. 3.75 per unit)

Fixed cost Rs. 90,000 up to 80% level of output, beyond this capacity an
additional Rs. 20,000 will be in curred.

Calculate:-

(1) Activity level at break even point

(2) Number of units to be sold to earn a net income of 8% of sales

(3) Activity level needed to earn a profit of Rs. 95,000

(4) What should be the selling price per unit if break even point is
to be brought down to 40% utility level ?

The capital structure of Shree Tejanand Ltd. is as under :- (6)
Equity shares of Rs. 10 each : Rs 1,00,00,000

9% preference shares of Rs. 100 each : Rs. 30,00,000
14% Debentures of Rs. 100 each : Rs. 70,00,000

The market price of these securities are : equity shares Rs 35 per share,
Preference share Rs.120 per share , and debentures, Rs. 110 per debenture.

Additional information :-

(1) Equity shares have a floatation cost of Rs.5 per share. The next
year, expected dividend is Rs.3. Dividend growth rate is 5%.

(2) Preference shares are redeemable at a premium of 10% after 10
years. It's floatation cost is 2 %.

(3) Debentures are redeemable at a premium of 5% after 10 years.
Debenture issued expense at 2 %.

(4) Corporate tax rate is 30%.

From the above information, calculate :
(1)  Cost of equity share capital
(i1)) Cost of preference share capital
(111) Cost of debenture after tax
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Q-3 (a)

Q-3 (b)

Q-4

OR

Shri Mahavir Ltd. provided the following information :- (6)
Year 2016-17 Year 2017-18
Sales Rs. 15,00,000 | Sales Rs. 5,00,000
Total profit 24% of sales | Total cost Rs 5,40,000

During the next year 2018-19, the selling price and variable cost are
expected to be reduced by 20% and 33 1/3% respectively, and fixed
costs are expected to increase by 25%.

Calculate:

(1) Estimated profit if sales units are expected to increase by 100%.
(2) Estimated sales in order to increase profit by Rs. 2,40,000 per year.
(3) Fixed cost and profit volume ratio.

(4) The break even point for the year 2018-19.

(i) Jayhind Ltd. has furnished the following information : 4)
Earning per share :Rs.4
Dividend pay out ratio :25%
Market price per share : Rs.40
Rate of tax :30%
Growth rate of dividend : 8%

The company wants to raise additional capital of Rs. 10,00,000
in which including debt of Rs. 4,00,000. The cost of debt ( before
tax) is 10% up to Rs. 2,00,000 and beyond that 15%. From the
above information, calculate the cost of equity share capital and
cost of debt after tax.

(1))  From the following information find out the amount of expected

dividend :- 4
(1) Cost of retained earning : 8575%
(2) Market value of equity share : Rs. 140
(3) Individual rate of tax o 50%
(4) Brokerage of new investment : 2%
Write short notes :- ( any three ) 12

(1) Cost of retained earning

(2) Difference between cash flow statement and fund flow statement
(3) Utility of break even analysis

(4) Explicit and implicit cost of capital

(5) Cash flow from investment activity of business

(6) Limitations of computer
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